KEMHEERIR OKERES)

E)IEKE  (TERK) 28448
w = s e 4y
BN KB EE pum Age 12 oHE BE mae nok
B|E|B: S °C mg/L  mg/L  mg/L  mg/L E mg/L  mg/L
1|1%&| 8:40 9.9 317 1A 9.7 <0.03 1.5 1.6 0.1 32.8
2|11 21:00 10.1 37 80 9.9 <0.03 1.4 1.0 32.8
31 8| 21:00 9.3 317 69 9.8 <0.03 1.4 1.2 32.8
4 | A| 8:45 9.9 37 69 9.9 <0.03 1.5 1.2 <0.1 32.6
5 k| 8:40 9.8 317 83 10 <0.03 1.4 1.4 <0.1 32.8
6 | K| 8:39 9.7 37 69 9.8 <0.03 1.4 1.2 <0.1 32.3
7 |XK]| 8:43 11.2 38 13 11 <0.03 1.6 1.4 <0.1 33.4
8 [%&| 8:40 11.1 38 75 10 0.04 7.6 1.6 <0.1 33.0
9 (x| 21:00 11.0 317 69 10 0.03 1.5 1.2 31.9
10181 21:00 | 11.2 37 12 10 0.03 1.5 1.4 32.3
11| A 8:40 11.6 317 69 10 0.06 1.5 2.5 <0.1 32.4
12 k| 8:39 11.6 37 73 12 <0.03 7.1 0.4 <0.1 29.5
13k | 8:39 11. 4 317 13 12 <0.03 1.2 0.2 <0.1 30.2
14 K| 8:40 11.5 37 70 12 <0.03 1.2 0.2 <0.1 29.8
15(&| 8:47 11.3 317 1A 9.7 0.05 1.5 2.1 <0.1 32.6
161 | 21:00 | 12.3 37 77 10 0.05 1.7 1.9 32.7
17{81 21:00 | 12.9 317 76 10 0.05 1.8 2.8 32.6
18| A| 8:45 12.1 37 63 9.5 0.03 7.6 1.6 <0.1 32.6
19 K| 8:36 11.6 38 12 9.8 0.03 1.5 2.1 <0.1 32.5
20| k| 8:40 12.1 38 80 9.7 0.04 7.6 2.1 <0.1 32.9
21 [ ]| 8:39 12. 4 38 14 9.7 0.03 1.6 1.9 <0.1 32.5
22| €| 8:42 12. 4 37 14 9.9 0.04 7.6 1.8 0.1 31.9
23| | 21:00 | 12.8 317 75 9.8 <0.03 1.5 1.5 32.7
24 B 21:00  12.0 37 75 9.7 0.03 7.6 1.7 32.0
25| A | 8:40 12.6 317 1A 9.8 0.04 1.7 1.2 <0.1 32.7
26 | k| 8:42 13.3 37 14 10 0.04 7.6 2.2 <0.1 32.8
271K 8:4 13.3 38 84 11 <0.03 1.6 1.4 <0.1 32.0
28| K| 8:43 13.1 37 1Al 9.7 <0.03 1.5 1.4 <0.1 32.7
29| €| 21:00 | 14.5 38 70 12 <0.03 1.4 0.5 32.2
30| ] 21:00 | 14.5 37 78 12 <0.03 1.3 0.4 31.1
T - 11.8 37 73 10 <0.03 1.5 1.4 <0.1 32.2
R = - 14.5 38 84 12 0.06 1.8 2.8 0.1 33.4
&K — 9.3 37 63 9.5 <0.03 7.1 0.2 <0.1 29.5




KEMHEERIR OKERES)

E)IEKE  (TERK) 2845 B
w = s e 4y
BN KB EE pum Age 12 oHE BE mae nok
B|E|B: S °C mg/L  mg/L  mg/L  mg/L E mg/L  mg/L
1181 21:00 | 14.0 317 86 9.9 <0.03 1.6 2.1 32.7
2 (A 8:44 13.2 37 84 9.7 <0.03 1.5 1.6 <0.1 33.4
3] 21:00  13.0 317 18 9.7 <0.03 1.5 1.2 32.8
4 1 k| 21:00 | 14.0 37 78 9.7 <0.03 7.6 1.5 32.9
51AK]21:00 | 12.3 317 85 9.6 <0.03 1.4 1.3 32.7
6 | & | 8:41 11.6 37 1Al 9.5 <0.03 1.4 1.0 0.1 32.7
711X 21:00  13.5 317 1A 9.5 <0.03 1.6 1.2 31.9
8 (B8] 21:00 | 13.8 37 68 9.9 0.04 7.6 1.9 33.0
9 (A 8:45 13.5 317 18 9.7 <0.03 1.5 1.7 <0.1 33.4
10 K| 8:45 14.2 37 70 9.8 0.03 7.6 2.2 <0.1 33.0
11 K| 8:45 13.7 317 12 11 <0.03 1.3 0.9 <0.1 32.3
12 K| 8:39 13.2 37 1Al 9.7 <0.03 1.3 1.5 <0.1 32.6
13(%| 8:38 14.3 317 13 9.9 0.04 1.5 1.9 <0.1 33.3
14| 21:00  14.8 37 12 9.9 <0.03 7.6 1.3 32.9
15( 81| 21:00  15.0 317 70 9.7 <0.03 1.6 1.9 32.6
16| A| 8:45 14.7 37 70 9.8 0.03 1.5 2.1 <0.1 33.3
17 k| 8:41 14.0 317 68 9.6 <0.03 1.3 1.5 <0.1 33.2
18 k| 8:40 15.3 37 12 10 0.05 1.5 2.3 <0.1 33.0
191 K| 8:38 15.9 317 14 10 0.04 1.4 2.0 <0.1 32.5
20 & | 8:39 15.7 37 73 10 0.05 1.4 2.7 <0.1 32.9
21| x| 21:00 | 16.5 317 69 10 0.05 1.4 2.9 32.8
22( 2| 21:00  17.0 37 70 9.7 0. 06 7.6 2.4 32.9
23| A | 8:42 16.7 317 70 9.9 0.04 1.5 2.3 <0.1 32.9
24| k| 8:39 17.0 37 69 9.7 <0.03 7.6 1.9 <0.1 33.1
25| 7k | 8:39 16. 8 317 64 10 <0.03 1.4 1.2 <0.1 32.6
26| K| 8:37 16.5 37 68 9.6 0.05 1.5 1.7 <0.1 33.6
27| & | 8:38 16. 2 317 1A 9.5 0.03 1.4 1.9 <0.1 33.6
28 £ 21:00  19.0 37 69 9.7 0.04 1.7 1.4 33.3
291 8] 21:00 18.0 317 68 9.6 0.03 1.5 2.0 33.4
301 A| 8:43 18.9 37 67 9.7 <0.03 1.7 1.7 <0.1 33.4
31 k] 8:39 19.7 317 69 9.6 0.04 1.7 1.6 <0. 1 34.0
T - 15.2 37 12 9.8 <0.03 1.5 1.8 <0.1 33.0
R = - 19.7 37 86 11 0.06 1.7 2.9 0.1 34.0
&K — 11.6 37 64 9.5 <0.03 7.3 0.9 <0.1 31.9




KEMHEERIR OKERES)

E)IEKE  (TERK) 2846 B
w = s e 4y
BN KB EE pum Age 12 oHE BE mae nok
B|E|B: S °C mg/L  mg/L  mg/L  mg/L E mg/L  mg/L
117K 8:39 19.2 317 18 9.7 <0.03 1.7 1.7 <0.1 33.3
2 | ]| 8:40 20.0 37 95 10 0.04 7.6 1.9 <0.1 33.8
3 |&| 8:39 19.6 317 18 9.8 <0.03 1.7 2.1 <0.1 32.9
4 [x£] 21:00 20.0 37 14 12 <0.03 1.3 0.6 32.2
518 XAl
6 [ A 8:40 20. 3 37 92 9.7 <0.03 7.8 1.7 <0.1 33.4
Tk 8:43 17.7 317 75 9.7 <0.03 1.4 1.8 <0.1 33.5
8 [/Kk| 8:39 19.3 37 95 11 <0.03 1.2 0.5 <0.1 32.0
9 | K| 8:39 19.8 317 82 9.8 <0.03 1.6 1.7 <0.1 33.2
10|&| 8:44 18.6 37 76 10 <0.03 1.2 2.5 <0.1 33.5
11X 21:00  20.3 38 75 9.9 <0.03 1.7 3.6 33.3
12({ 81| 21:00 | 20.3 37 67 9.8 <0.03 1.7 1.5 32.8
13| A | 8:40 20.9 317 95 10 <0.03 1.6 2.3 <0.1 33.3
14 K| 8:38 21.3 37 97 9.7 <0.03 7.6 1.7 <0.1 33.4
15 k| 8:38 21. 4 317 95 9.9 0.04 1.6 2.6 <0.1 33.5
16 [ ]| 8:39 21. 4 38 80 10 <0.03 1.4 2.0 <0.1 33.4
17(%€| 8:37 21.8 38 70 9.9 0.04 1.6 1.9 <0.1 33.6
18 £ 21:00 @ 22.0 38 77 13 <0.03 1.2 0.4 31.4
198/ 21:00  22.0 38 76 13 <0.03 1.0 0.2 31.4
201 A | 8:39 22. 4 38 12 12 <0.03 1.2 1.0 <0.1 32.3
21| x| 8:37 22.5 317 65 10 0.04 1.6 1.7 <0.1 33.3
22| K| 8:36 21.5 38 78 11 <0.03 7.1 0.9 <0.1 32.7
23| K| 8:40 21.7 38 13 10 0.03 1.3 1.9 <0.1 33.6
24 €| 8:39 23.1 35 67 13 <0.03 6.9 0.3 <0.1 27.3
25| | 21:00 | 22.5 34 18 13 <0.03 6.8 0.3 32.5
26| H]| 21:00 | 16.7 38 75 9.7 <0.03 7.0 1.2 32.7
21| B | 8:43 18.8 317 12 10 <0.03 1.2 1.6 <0.1 32.4
28| k| 8:40 20.6 36 73 12 <0.03 6.9 0.2 <0.1 28.6
29| K| 8:38 21.5 35 64 12 <0.03 6.9 0.3 <0.1 21.0
30| K| 8:42 22.2 36 77 11 <0.03 7.0 0.3 <0.1 29.1
T - 20.7 37 78 11 <0.03 1.3 1.4 <0.1 32.3
R = - 23. 1 38 97/ 13 0.04 1.8 3.6 <0.1 33.8
&K — 16. 7 34 64 9.7 <0.03 6.8 0.2 <0.1 27.0




KEMHEERIR OKERES)

E)IEKE  (TERK) 2847 B
w = s e 4y
BN KB EE pum Age 12 oHE BE mae nok
B|E|B: S °C mg/L  mg/L  mg/L  mg/L E mg/L  mg/L
11&| 8:43 22.6 36 12 12 <0.03 7.1 0.3 <0.1 29.3
2 | x| 21:00 | 22.8 37 79 12 <0.03 7.1 0.3 29.6
31 B8] 21:00 | 20.5 38 69 9.6 0.05 7.1 2.5 33.2
4 | A| 8:49 22.5 37 1Al 9.6 0.03 1.5 2.0 <0.1 32.5
5 K| 8:46 23.17 317 6/ 9.6 <0.03 1.6 2.1 <0.1 32.6
6 | K| 8:42 22.0 37 80 10 <0.03 1.2 1.5 <0.1 32.2
7 |AK| 8:40 25.5 38 75 9.8 <0.03 1.6 1.9 <0.1 32.9
8 [£| 8:37 24.7 37 70 9.3 <0.03 7.6 2.0 <0.1 33. 1
9 (x| 21:00 24.0 317 13 9.5 <0.03 1.7 1.8 32.9
10{B8| 21:00  24.0 36 77 12 <0.03 7.1 0.5 29.2
11| A| 8:41 24.7 317 11 12 <0.03 7.1 1.1 <0.1 28.7
12 k| 8:41 25.5 37 14 9.8 0.06 7.6 2.9 <0.1 32.3
13|k | 8:38 26. 2 317 13 9.7 0.04 8.0 1.9 <0.1 32.7
14 K| 8:41 20.6 39 75 10 0.06 8.0 3.1 <0.1 34.1
15(&| 7:44 23.6 38 11 10 0.05 1.7 2.5 <0.1 33.7
161 | 21:00 | 23.0 38 77 10 0.04 1.7 2.2 32.8
17{ 81| 21:00 | 25.5 38 83 12 0.08 1.4 2.5 32.5
18 A 21:00 | 25.2 39 73 13 <0.03 1.2 0.8 32.0
19 k| 8:47 26.4 38 79 13 <0.03 1.2 0.2 <0.1 30.9
20| k| 8:46 26.8 38 81 13 <0.03 7.1 0.2 <0.1 31.0
21 [ ]| 8:39 26.8 38 63 11 <0.03 1.2 1.3 <0.1 31.8
22 & | 8:37 27.0 38 12 12 <0.03 7.1 0.2 <0.1 31.4
23| | 21:00 26.0 38 60 9.5 0.05 1.4 2.1 33.6
241 H] 21:00 26.0 38 70 12 <0.03 7.0 0.3 31.2
25| A | 8:37 25.8 38 1A 11 <0.03 1.0 0.2 <0.1 32. 1
26| x| 8:40 25.8 38 87 12 <0.03 7.0 0.1 <0.1 31.7
27| k| 8:37 25.8 38 79 11 <0.03 7.1 <0.1 <0.1 31.6
28| K| 8:42 26.5 38 77 12 <0.03 7.1 0.2 <0.1 31.9
29| & | 8:40 26.7 39 76 12 <0.03 1.2 0.2 <0.1 31.7
30| | 21:00 | 26.8 38 86 12 <0.03 1.2 0.3 31.4
31181 21:00 27.0 38 82 12 <0.03 7.1 0.2 32.5
T - 24.8 38 75 11 <0.03 1.3 1.2 <0.1 31.9
R = - 21.0 39 87 13 0.08 8.0 3.1 <0.1 34. 1
&K — 20.5 36 60 9.3 <0.03 7.0 <0.1 <0.1 28.7




KEMHEERIR OKERES)

E)IEKE  (TERK) k2848 B
w = s e 4y
BN KB EE pum Age 12 oHE BE mae nok
B|E|B: S °C mg/L  mg/L  mg/L  mg/L E mg/L  mg/L
1|1 A 8:46 21.0 38 63 11 <0.03 1.2 1.2 <0.1 33.6
2 | K| 8:55 28.0 38 62 11 0.03 1.4 1.2 <0.1 33.3
3 (/K| 8:53 28.2 38 69 12 <0.03 7.1 0.2 <0.1 32.2
4 [ K| 8:40 28. 4 38 61 12 <0.03 7.1 0.1 <0.1 31.6
5|&| 8:41 21.8 38 69 12 <0.03 1.0 0.3 <0.1 32. 1
6| X] 21:00 28.0 38 70 9.9 0. 06 1.2 2.1 33.3
7181 21:00 28.0 38 13 9.7 0.07 1.2 2.3 33.4
8| A| 8:45 27.9 38 1Al 9.6 0.06 1.2 2.1 <0.1 33.4
9 | k| 8:40 29.1 38 1A 9.7 0.04 1.7 1.4 <0.1 33.6
10 k| 8:39 28.8 38 62 9.7 0.05 7.6 1.9 <0.1 34.1
11K 21:00  28.5 38 14 9.6 0.03 1.5 1.3 34.0
12 & 21:00 | 28.5 38 12 9.9 0.04 1.7 1.5 33.9
13X 21:00 @ 28.0 38 60 9.5 0.03 1.4 1.2 33.9
141 81| 21:00 | 28.9 38 61 9.4 0.03 1.5 1.2 34.1
15 A 21:00  28.0 38 63 9.5 0.03 1.2 1.3 34.3
16 X 21:00 | 29.0 38 67 9.7 0.03 1.4 1.2 33.7
17 k| 8:40 29.1 38 65 9.8 0.03 1.5 1.4 <0.1 33.9
18 K| 8:39 29.0 38 1Al 9.5 0.03 7.6 1.1 <0.1 33.7
19(%€ | 8:40 28.6 38 6/ 9.9 0.04 1.4 1.6 <0.1 34.3
20 £ 21:00  29.0 38 63 9.8 0.03 1.4 1.5 33.7
211 8] 21:00 | 29.5 38 55 10 0.04 1.7 1.6 34.5
22| B | 8:41 29.4 37 65 9.8 <0.03 1.5 2.1 <0.1 34.3
23| x| 8:49 29.5 38 93 9.8 <0.03 1.5 1.7 <0.1 34.4
24| k| 8:37 29.2 38 85 11 0.04 1.3 0.4 <0.1 33.2
25 K| 8:45 29.0 38 82 9.5 0.05 1.6 1.0 <0.1 34.3
26 (€| 8:39 28.8 38 77 9.6 <0.03 1.5 1.1 <0.1 34.1
271 ] 21:00 29.0 38 82 9.8 <0.03 1.5 1.2 34.2
28( B 21:00 | 28.2 38 80 10 0.03 1.5 1.3 34.2
29| A | 8:37 28.2 38 79 9.9 <0.03 1.4 1.1 <0.1 34.4
30| x| 8:40 27.0 38 83 9.3 <0.03 1.4 1.1 <0.1 33.9
311 7k] 8:39 26.8 317 6/ 9.5 0.05 1.4 2.1 <0. 1 34. 3
T - 28.5 38 70 10 <0.03 1.4 1.3 <0.1 33.7
R = - 29.5 38 93 12 0.07 1.7 2.7 <0.1 34.5
&K — 26.8 37 55 9.3 <0.03 7.0 0.1 <0.1 31.6




KEMHEERIR OKERES)

E)IEKE  (TERK) 2849 B
w = s e 4y
BN KB EE pum Age 12 oHE BE mae nok
B|E|B: S °C mg/L  mg/L  mg/L  mg/L E mg/L  mg/L
1[R[ 8:46 23.5 317 79 12 <0.03 1.0 0.8 <0.1 31.9
2 | & | 8:41 26.4 39 73 9.3 <0.03 1.5 1.0 <0.1 34.0
3|1x] 21:00  27.0 39 11 11 0.04 1.5 1.6 33.7
4 (B8] 21:00 | 26.5 39 76 10 0.04 1.4 1.5 33.6
5 A 8:40 26.9 39 76 9.1 <0.03 1.6 1.0 <0.1 33.8
6 | K| 8:46 27.1 39 81 9.8 <0.03 7.6 1.0 <0.1 34.0
7 K[ 8:42 21.4 39 12 12 <0.03 1.4 0.7 <0.1 33.3
8 [ K| 8:41 27.4 39 84 11 0.06 1.4 1.9 <0.1 33.8
9 (£]| 8:50 21.4 39 12 10 <0.03 1.7 1.2 <0.1 33.7
10 £ 21:00 @ 27.0 38 65 10 <0.03 7.9 1.6 33.7
118/l 21:00  27.0 39 80 11 0.04 8.0 1.7 33.2
12| A| 8:45 27.1 39 70 11 0.04 7.8 1.6 <0.1 33.4
13 K| 8:42 21.0 39 61 9.8 <0.03 1.7 1.0 <0.1 33.7
14k 8:40 26.9 39 64 9.8 <0.03 7.6 1.2 <0.1 33.9
15| K| 8:41 26.6 39 68 11 0.04 1.6 1.4 <0.1 34.0
16| & | 8:38 26.5 39 67 9.8 <0.03 1.7 1.2 <0.1 33.8
171X 21:00 @ 27.0 39 70 11 <0.03 1.5 1.3 34.5
18 A 21:00 | 26.5 39 68 10 <0.03 7.8 1.2 33.5
19 A 21:00 @ 26.0 39 12 13 <0.03 7.1 0.2 30.9
20| k| 8:42 25.9 39 12 10 0.04 1.5 1.6 <0.1 33.9
21| K| 8:38 24.3 35 6/ 12 <0.03 6.8 0.3 <0.1 26.3
22| K| 21:00 24.8 38 67 12 <0.03 7.0 0.2 29.6
23| & | 8:37 24.6 38 66 12 <0.03 1.0 0.1 <0.1 30.0
241 £ 21:00 | 24.5 38 14 11 <0.03 7.1 0.2 31.0
251 B 21:00 | 24.6 39 66 12 <0.03 7.1 0.1 31.2
26| A | 8:40 24.8 38 14 11 <0.03 1.2 0.1 <0.1 31.2
27| x| 8:37 24.6 38 1A 12 <0.03 1.0 <0.1 <0.1 30.7
28| k| 8:4 24.9 39 70 10 0.04 1.5 1.8 <0.1 32.9
29 ]| 8:53 25.0 40 82 16 <0.03 1.0 0.8 <0.1 30.5
0% | 8:42 24.5 37 67 12 <0.03 7.0 0.2 <0.1 29.4
T - 26.0 39 12 11 <0.03 1.4 1.0 <0.1 32.4
R = - 2].4 40 84 16 0.06 8.0 1.9 <0.1 34.5
&K — 23.5 35 61 9.1 <0.03 6.8 <0.1 <0.1 26. 3




KEMHEERIR OKERES)

E)IEKE  (TERK) ERk28FE108
w = s e 4y
BN KB EE pum Age 12 oHE BE mae nok
B|E|B: S °C mg/L  mg/L  mg/L  mg/L E mg/L  mg/L
111X 21:00 | 24.3 317 69 12 <0.03 1.0 0.2 29.7
2|1 B 21:00 | 24.5 37 1Al 12 <0.03 6.9 0.2 28.9
3| A| 8:48 24.5 317 75 12 <0.03 1.0 0.1 <0.1 30.0
4 [ k| 8:51 24. 4 36 95 13 <0.03 6.9 0.2 <0.1 28.9
5 (/K| 8:39 24.6 317 12 11 <0.03 7.1 0.5 <0.1 30.6
6 | ]| 8:49 24.2 37 12 11 <0.03 1.3 0.5 <0.1 31.7
1| 8:42 23.2 38 81 12 <0.03 1.0 0.1 <0.1 31.7
8[x| 21:00 24.0 38 76 12 <0.03 7.1 0.2 31.4
9 (B[ 21:00 | 23.5 317 70 11 <0.03 1.3 0.3 32.3
10 A 21:00 @ 23.0 37 73 11 <0.03 1.2 0.5 31.7
11 Kk| 8:39 22.9 317 70 9.6 0.04 1.5 2.0 <0.1 32.8
12 k| 8:40 22.6 37 14 9.5 0.05 7.6 2.3 <0.1 33.1
13| K| 8:37 21.8 317 12 9.3 0.05 1.6 2.4 <0.1 33.7
14| & | 8:40 21. 4 37 69 11 <0.03 1.4 1.1 <0.1 33.0
15| 21:00 | 21.5 317 6/ 9.7 <0.03 7.1 1.8 33.8
161 B 21:00 | 21.5 38 12 11 0.04 1.5 1.9 33.5
17 A 8:43 21.5 317 6/ 9.3 <0.03 1.6 1.6 0.1 33.2
18 k| 8:38 21.6 37 65 9.5 <0.03 1.5 1.6 <0.1 32.9
19 k| 8:38 21.5 317 64 9.4 0.03 1.6 1.5 <0.1 33.3
20| K| 8:44 21.9 37 65 9.5 <0.03 7.8 1.4 0.1 33.4
21| £ | 8:41 21.1 317 12 9.3 0.06 1.7 2.4 <0.1 33.4
22 £ | 21:00 | 21.3 38 14 10 0.04 7.6 1.4 34.6
231 B 21:00 | 20.5 38 13 9.6 0.06 1.9 2.2 33.8
24| B | 8:41 19.9 38 76 9.3 0.04 7.8 1.9 <0.1 34.6
25| | 8:4M 20.0 38 70 9.3 <0.03 1.7 1.4 <0.1 33.5
26| K| 8:38 20. 3 37 69 10 <0.03 7.6 0.9 <0.1 33.1
27| R | 8:37 20.0 317 1A 9.5 <0.03 1.8 1.4 <0.1 33.6
28 & | 8:39 19.3 37 75 9.4 0.04 7.8 1.8 <0.1 33.6
29| £ 21:00 19.0 38 69 11 <0.03 1.3 0.2 31.5
3081 21:00 | 18.5 38 12 9.3 0.03 7.9 1.8 33.4
31| A | 8:41 18.3 38 JA 9.6 0.03 7.8 1.5 <0. 1 33.6
T - 21.8 37 12 10 <0.03 1.4 1.2 <0.1 32.5
R = - 24.6 38 95 13 0.06 1.9 2.4 0.1 34.6
&K — 18.3 36 64 9.3 <0.03 6.9 0.1 <0.1 28.9




KEMHEERIR OKERES)

E)IEKE  (TERK) ERk28FE118
w = s e 4y
BN KB EE pum Age 12 oHE BE mae nok
B|E|B: S °C mg/L  mg/L  mg/L  mg/L E mg/L  mg/L
1| :X] 8:40 18.3 317 68 9.6 0.04 8.0 1.6 <0.1 33.6
2 | K| 8:51 17.6 37 1Al 9.4 0.04 7.9 1.9 0.1 34.1
3|AK]21:00 18.0 317 11 9.9 0.03 1.9 1.5 33.9
4 €| 8:51 17. 4 38 68 9.8 0.04 1.7 1.8 <0.1 33.8
5|x] 21:00 | 17.8 317 69 9.5 <0.03 1.9 1.7 33.5
6| B 21:00 | 17.3 38 65 9.6 <0.03 7.6 1.7 33.9
1A 8:37 16.9 317 64 9.4 <0.03 1.6 1.5 <0.1 33.7
8 [ K| 8:42 17.1 37 67 9.7 0.05 7.8 2.1 0.1 34.0
9 | K| 8:41 16.0 317 75 12 <0.03 1.2 0.2 0.1 31.1
10 K| 8:38 15.3 37 14 9.5 0. 06 1.5 2.7 0.2 33.6
11[(£€| 8:37 15.9 317 68 9.6 0.04 1.6 1.7 0.1 34. 1
121 x| 21:00 | 16.3 38 66 9.8 0.04 1.7 1.7 33.4
13{ 8| 21:00  16.0 317 62 9.5 <0.03 1.7 1.4 33.9
14| A| 8:46 16. 1 38 67 9.9 0.03 1.5 1.8 0.1 34.2
15 k| 8:41 16.3 317 64 12 <0.03 1.2 0.2 0.2 32.0
167k | 8:38 15. 8 37 66 11 <0.03 1.3 0.1 0.1 32.1
171 K| 8:38 15. 4 38 83 12 <0.03 1.2 0.2 0.1 32.2
18| & | 8:44 15.5 37 76 11 <0.03 1.3 <0.1 0.1 32.4
19 £ 21:00 | 15.9 317 82 9.6 <0.03 1.7 1.3 33.8
200 B 21:00 | 15.5 38 87 9.7 0.04 7.6 1.7 34.4
21| A | 8:40 15.6 317 81 9.5 0.04 1.7 1.4 0.1 34. 1
22 | k| 8:37 15.7 38 88 11 0.05 7.6 1.8 0.1 33.8
23| 7k ] 21:00 15.0 38 18 13 <0.03 1.2 0.2 31.7
241 K| 8:38 14.2 38 94 13 <0.03 7.1 0.3 0.1 31.5
25| & | 8:45 14.3 38 91 9.9 0.04 1.6 2.3 0.2 34.5
26| | 21:00 | 14.5 37 64 9.8 <0.03 1.7 1.3 34.4
271 8] 21:00 | 14.6 317 90 9.6 <0.03 1.6 1.4 33.4
28| A| 8:46 14.2 37 82 9.6 <0.03 7.6 1.7 0.1 33.9
29| x| 8:37 13.9 317 1A 12 <0.03 1.2 0.2 0.1 31.8
30| k| 8:37 13. 4 37 66 12 <0.03 1.2 0.2 0.1 32.0
T - 15.9 37 14 10 <0.03 1.5 1.3 0.1 33.3
R = - 18.3 38 94 13 0.06 8.0 2.7 0.2 34.5
&K — 13. 4 37 62 9.4 <0.03 7.1 <0.1 <0.1 31.1




KEMHEERIR OKERES)

E)IEKE  (TERK) ERk28FE128
w = s e 4y
BN KB EE pum Age 12 oHE BE mae nok
B|E|B: S °C mg/L  mg/L  mg/L  mg/L E mg/L  mg/L
1[R[ 8:44 13.8 38 59 12 <0.03 1.3 0.1 0.2 32.0
2 | & 8:39 13.6 38 54 11 <0.03 1.3 0.2 0.1 32.2
3|1x] 21:00 | 13.5 38 69 12 0.05 1.4 0.7 33.2
4 (821 21:00 13.0 38 70 9.8 0.04 1.7 1.7 33.7
5 A 8:40 13.8 38 66 10 0.05 1.6 1.7 0.1 33.8
6 | K| 8:44 13.7 38 14 11 0.05 1.5 1.7 0.1 34.7
7 K[ 8:40 13.1 38 69 9.9 <0.03 1.5 1.4 0.2 34.2
8 [ K| 8:40 12.7 38 67 11 0.06 1.5 1.9 0.1 34.6
9 (€| 8:44 12.7 39 66 10 0.04 1.5 1.4 0.2 34.7
10 £ 21:00 @ 13.0 38 73 9.9 <0.03 1.5 1.3 34.4
118/ 21:00  12.5 38 63 9.6 <0.03 1.5 1.4 34.2
12| A| 8:41 12.2 38 59 9.8 <0.03 1.4 1.3 0.1 33.9
13 K| 8:46 11.9 38 64 9.7 0.04 1.4 1.4 0.1 34. 1
14k 8:42 12.2 38 66 10 <0.03 1.3 0.9 <0.1 32.7
15| K| 9:01 11.2 38 64 12 <0.03 1.2 0.2 0.2 31.7
16| & | 8:47 10.7 38 66 9.7 0.04 1.5 2.0 0.2 33.9
171X 21:00 ' 11.0 38 68 10 0.04 1.5 1.9 34.2
181 8| 21:00 | 11.6 37 1Al 9.7 0.03 7.6 1.5 33.7
19| A 8:49 11.5 38 68 9.6 0.04 1.5 1.5 0.2 34.0
20| k| 8:43 11.6 38 63 9.5 <0.03 1.5 1.3 0.2 33.6
21| K| 8:42 11.5 38 64 9.6 <0.03 1.5 1.2 0.1 34.2
22| K| 8:53 11.7 38 65 9.2 <0.03 1.5 1.2 0.2 34.1
23| & 21:00 | 11.5 39 76 14 0.06 1.6 2.0 34.5
24 £ 21:00 | 11.2 39 73 12 0.05 7.6 2.2 33.8
251 8] 21:00 11.0 38 65 9.9 <0.03 1.5 1.6 33.7
26| B | 8:43 11.1 38 68 10 0.04 1.5 1.5 0.1 34.0
27| x| 8:50 11.2 38 13 11 0.06 1.5 2.1 0.1 33.8
28| k| 8:44 10. 3 38 1Al 13 <0.03 7.0 0.2 <0.1 29.4
29| K| 21:00 | 10.5 38 70 12 <0.03 1.2 0.2 31.8
30(= | 21:00 10.0 38 1Al 11 <0.03 1.3 0.6 31.9
31| £ 21:00 10.0 38 12 10 0.05 1.6 2.0 33.6
T - 11.9 38 67 11 <0.03 1.5 1.3 0.1 33.5
R = - 13.8 39 76 14 0.06 1.7 2.2 0.2 34.7
&K — 10.0 37 54 9.2 <0.03 7.0 0.1 <0.1 29. 4




KEMHEERIR OKERES)

E)IEKE  (TERK) 29418
w = s e 4y
BN KB EE pum Age 12 oHE BE mae nok
B|E|B: S °C mg/L  mg/L  mg/L  mg/L E mg/L  mg/L
1181 21:00 | 10.3 39 66 9.9 0.03 1.6 1.4 34.1
21 A1 21:00 | 10.2 39 1Al 9.7 0.03 7.6 1.5 34.1
3] 21:00  10.0 39 69 10 0.04 1.6 1.5 34.2
4 (k| 8:44 10. 4 39 1Al 9.8 <0.03 7.6 1.0 0.1 34.2
51K| 8:43 10.0 39 69 9.9 0.03 1.5 1.4 0.2 34.0
6 | & | 8:45 8.8 40 76 9.7 0. 06 1.5 2.4 0.1 34.6
71X 21:00 10.0 39 13 9.7 <0.03 1.6 1.3 34.3
81 8| 21:00 9.8 39 1Al 9.6 0.03 1.5 1.3 34.0
9 A 21:00 9.5 39 14 8.8 0.03 1.6 1.2 33.9
10 K| 8:42 9.8 39 67 10 0.03 1.5 1.2 0.2 33.8
11 k| 8:42 9.8 39 80 11 0.06 1.5 1.9 0.2 34.2
12| K| 8:42 9.4 39 14 11 0.04 1.4 1.2 0.1 33.9
13[% | 8:50 9.1 39 11 9.9 0.03 1.5 1.3 0.2 34.3
14| £ | 21:00 9.0 39 1Al 9.6 0.04 1.5 1.3 33.8
151 B 21:00 8.5 39 13 9.9 0.03 1.5 1.2 33.3
16| A | 8:42 8.5 39 12 9.7 <0.03 1.5 1.1 0.2 33.6
17 K| 8:44 8.2 38 75 10 0.03 1.4 1.2 0.2 33.4
18 k| 8:45 8.3 39 70 9.9 <0.03 1.4 1.0 0.2 33.6
19| K| 8:46 8.6 40 75 10 <0.03 1.4 1.0 0.2 34.0
20 & | 8:44 8.4 39 61 9.8 <0.03 1.4 1.0 0.2 34.3
21 £ | 21:00 8.5 39 54 11 0.03 1.4 1.3 33.7
221 81 21:00 8.2 40 60 12 0.04 1.4 1.4 33.9
23| A | 8:53 1.6 40 62 12 0.07 1.4 1.8 0.1 33.7
24| k| 8:57 7.8 39 75 11 0.03 1.4 1.2 0.2 34.2
25| 7k | 8:49 1.9 39 13 9.9 <0.03 1.4 0.9 0.2 33. 1
26| K| 8:48 7.8 40 62 12 <0.03 1.3 0.4 0.2 33.0
27| & | 8:57 1.8 40 54 10 0.03 1.4 1.0 0.2 34.0
28| £ 21:00 8.3 40 70 10 <0.03 1.4 0.9 34.1
291 B 21:00 8.2 40 13 11 <0.03 1.4 0.9 34.5
30| A| 8:58 8.3 40 58 11 0.04 1.4 1.0 0.2 34.2
31 k] 8:53 1.9 41 62 13 <0.03 1.2 1.0 0.2 33.4
T - 8.9 39 69 10 <0.03 1.5 1.2 0.2 33.9
R = - 10.4 4 80 13 0.07 1.6 2.4 0.2 34.6
&K — 7.6 38 54 8.8 <0.03 1.2 0.4 0.1 33.0




KEMHEERIR OKERES)

E)IEKE  (TERK) 2942 B
w = s e 4y
BN KB EE pum Age 12 oHE BE mae nok
B|E|B: S °C mg/L  mg/L  mg/L  mg/L E mg/L  mg/L
1]7K]| 8:57 1.9 39 69 11 0.04 1.4 1.2 0.2 34.6
2 | ]| 8:45 7.3 40 73 13 0.08 1.4 2.0 0.2 33.6
3 |&| 8:42 1.6 39 13 12 0.06 1.5 1.8 0.2 34. 1
4 | | 21:00 8.2 39 1Al 12 0.04 1.5 1.3 34.1
51 8| 21:00 8.0 39 75 11 0.05 1.4 1.3 34.4
6 (A ]| 8:44 8.1 39 73 11 0.05 1.4 1.1 0.2 34.3
7 Xk| 8:52 1.6 39 14 12 0.07 1.4 1.8 0.2 34.6
8 [/k| 8:45 7.3 40 77 14 0.04 1.3 1.0 0.1 32.4
9 | K| 8:49 1.4 39 14 11 0.04 1.4 1.3 0.2 32.9
10(£€| 8:41 6.2 40 78 13 0.08 1.4 1.4 0.1 33.1
111 x£] 21:00 6.4 40 79 13 0.05 1.4 1.1 33.2
121 B 21:00 7.1 39 14 12 0.05 1.4 1.1 33.2
13| A| 8:44 1.2 39 11 11 0.04 1.4 0.9 0.2 32.8
14 K| 8:48 1.4 39 14 11 0.04 1.4 0.8 0.2 33.1
15 k| 8:40 1.3 39 68 11 0.03 1.6 0.7 0.2 32.4
16 K| 8:44 7.3 40 67 13 0. 06 1.5 1.2 0.1 33.4
17(%&| 8:46 1.6 39 69 11 0.04 1.6 0.8 0.2 33.2
18| £ | 21:00 1.7 39 69 11 0.05 7.6 1.0 33.4
191 8 21:00 1.3 39 1A 11 0.06 1.6 1.0 33.3
201 A | 8:48 1.4 39 68 10 0.04 7.6 0.9 0.2 33.3
21| x| 8:43 1.4 39 14 10 0.03 1.6 1.0 0.2 33.4
22| K| 84 7.0 40 78 12 0.04 7.6 1.0 <0.1 32.9
23| K| 8:44 1.6 39 1A 10 0.04 1.5 1.0 0.2 33.0
24 & | 8:45 7.6 39 75 10 <0.03 1.5 0.6 0.1 33.2
25| 21:00 1.5 39 80 10 <0.03 1.6 0.8 35.4
26| B 21:00 8.0 39 76 10 <0.03 7.6 0.7 34.8
27| A | 8:46 1.6 39 12 10 0.05 1.6 1.1 <0.1 35.0
28| k| 8:42 7.3 39 77 11 0.04 1.3 1.1 0.2 34.4
T - 7.4 39 73 11 0.04 1.5 1.1 0.2 33.6
R = - 8.2 40 80 14 0.08 1.6 2.0 0.2 35.4
&K — 6.2 39 67 10 <0.03 7.3 0.6 <0.1 32.4




KEMHEERIR OKERES)

E)IEKE  (TERK) 2943 B
w = s e 4y
BN KB EE pum Age 12 oHE BE mae nok
B|E|B: S °C mg/L  mg/L  mg/L  mg/L E mg/L  mg/L
1]7K] 8:58 1.5 38 69 10 0.04 1.5 1.3 0.2 35.2
2 | ]| 8:53 7.6 38 69 10 0.04 1.7 1.1 0.2 35.6
3 |&| 8:50 1.1 38 1A 10 0.04 1.7 1.2 0.2 35. 1
4 | | 21:00 8.0 38 68 9.2 0.03 7.6 1.0 33.7
51 8| 21:00 8.1 38 68 9.7 0.03 1.6 1.1 33.4
6 [ A| 8:48 7.9 38 1Al 9.9 0.03 1.5 1.0 0.2 33.6
T 1X|[ 9:04 8.1 38 12 10 0.04 1.6 1.4 0.1 34.0
8 [ k| 8:57 7.9 38 77 12 0.04 1.5 1.2 <0.1 33.0
9 | K| 8:54 1.9 39 82 12 0.05 1.5 1.5 0.2 33.8
10| & | 8:49 1.7 38 77 11 0.05 1.5 1.3 0.1 33.9
111 x£] 21:00 8.2 38 11 11 0.04 1.5 1.1 33.0
121 B 21:00 8.0 38 70 11 0.03 7.6 1.1 33.5
13| A| 8:54 8.1 38 13 11 0.03 1.5 0.9 0.2 33.6
14 K| 7:50 8.5 38 73 11 0.03 7.6 1.1 0.1 34.0
15[ K| 8:49 8.4 38 75 11 0.04 1.6 1.2 0.2 34.5
16 [ ]| 8:52 8.3 38 75 11 0.04 7.6 1.6 0.2 34.8
17(%| 8:56 8.5 38 79 11 0.04 1.6 1.3 0.2 35.5
18| £ | 21:00 9.0 39 84 14 0.05 7.6 1.5 34.5
191 8 21:00 9.0 39 82 13 0.05 1.7 1.6 34.7
20 A | 21:00 9.0 38 76 12 0.04 7.6 1.5 34.5
21| x| 8:59 9.1 39 18 12 0.05 1.6 1.6 0.2 34.7
22| K| 8:50 9.1 38 14 11 0.04 7.6 1.4 0.1 34.0
23| K| 8:40 9.1 38 79 11 0.04 1.5 1.3 <0.1 34.5
24 €| 8:40 9.1 38 65 11 0.04 7.6 1.5 0.2 34.8
25| 21:00 8.5 38 70 10 0.03 1.6 1.4 34.2
26| B 21:00 9.0 38 14 9.8 0.04 7.6 1.8 34.3
27| A | 8:58 8.9 38 18 9.8 0.04 1.5 1.4 0.1 34.3
28| k| 8:48 9.1 39 78 10 0.08 7.6 2.3 <0.1 34.3
29| k| 8:53 9.6 38 12 11 0.06 1.6 1.6 0.1 34.0
30| K| 8:51 9.6 38 75 11 0.04 1.5 1.3 0.2 34.2
31| & | 8:48 9.8 39 75 11 0.05 1.6 1.5 0.1 34. 6
T - 8.5 38 74 11 0.04 7.6 1.4 0.1 34.3
R = - 9.8 39 84 14 0.08 1.7 2.3 0.2 35.6
&K — 1.5 38 65 9.2 0.03 1.5 0.9 <0.1 33.0




